Dimension

Filling port

; " Luck nut
RC9/16"-18UNF  Drain port G3/8"(RC) MAX165.5 L
Luck nut . MAX195 44.5 MAX100.5 Flow adj.Screw
DEC. Flow adj.Screw f / 68 6 i 47678 ()
g € 8
Discharge port AP ‘ 25 o9l o) o 4 INC.
RC3/4"(PT3/4") 8 Q| 8
2-M10x17 deep D B 2l & @ o =
0 © r N g -
1 o
2 ~
©
5 i ]
Suction port ©
Pressure gauge E— N
®19 .
commection P
RC1/2"(PT1/2")
22.2 10 Outlet RC1/2" \ "
I~ 0 Inlet RC3/4
147 ‘96‘
130
172
T
AR16/22 G
Filling port
RC9/16"-18UNF "
Drain port MAX151.25 Diff pressure
" adjustment
Remote control G3/8"(RC MAX86.25 (@Waming'
Q G1/4 & PT1/4 , \ P~ IAE Don't adjust )
Luck nut / b
] -‘@ r DEC. Flow adj.Screw (AL 6 S @' o /
Discharge port ‘ 25 oo| o3| oo ; o
RC3/4"(PT3/4") 3| & B g
2-M10x17 deep 2§ & - 476 | ¥
A ~ 2
o e 0
s} - i
5 - r— o HE B O i
; I
2:3'0‘1 fatl Pressure gauge : —_—r : S
commection [ I
RC1/2"(PT1/2" . ——
2.0 ( ) 1o _Outlet RC1/2 \ A—
147 106 2,
130 &
| 172
AR16 / 22HL
Filling port Load sensing pressure
RC9/16"-18UNF adjustment
Remote control Drain port WEFD il eed
G1/4 & PT1/4 G3/8"(RC MAX86.25 Hight pressure

L \  MAX195, 44.5
ED Q Luck nut / N
] ) pec. Flow adj.Screw /68 6 @-

adjustment

o

Discharge port ‘ 25 o‘; o5 Q; f%m

RC3/4"(PT3/4") 3l | B 0

2-M10x17Deep b ol &5l & . | 4.76*8'°3g L3/
NN i
3 & i
< { .

v T " = i | P (7

] 1

Stigtion Port @19 Pressure Gauge . _1 i ©
Commection !

22.2 B (P ) 10 Outlet RC1/2"
r— 106 Inlet RC3/4"
147 >
130 S

172

o HIARAEUL » AR TSI T3 AN

e Specification is subjected to change without notice.



Dimension

AR16 /22C

267.8

445

O .

Low pressures

» Drain port RC3/8" (PT3/8") ME S AdjUstme
' Filling port RC9/16"-18UNF a High pressure
Low flow adjustment adjustment
o .. 68 6
High flow adjustment l s ey
25 oles]es)
&7 1 B e e INC.
© © - o a’ %‘ 77777
@ b + 1 RSIRSIRSINN
N~
© © g | (o]
o g I
T2 B =
Outlet 7 St |
PT1/2"14/ 7 ﬁ I
T 4 Outlet
+-Max18 decp, | 175 J,_ﬁ PT1/2"-14 N
124 147 L) & (2-M10x20 )
185 130
AR16 /22 CG
267.8 44,5 Drain port RC MAX.154,9 Low pressures
i 3/8" (PT3/8") MAX.89,9 adjustment
Filling port — —_— High pressure
DEC. RC9/16"-18UNF Romote pressure port : adjustment
Low flow adjustment PT1/4 Warning:
Don't adjust
High flow adjustment \ 68, 6 O
0, © [Ye]
‘ 25 oZogles INC.
<| W
N R SRR 375y
l.Q (=] & ‘0_7 Nl of [{e]
~ - ¢ 1 Slelel N S
© Q | o
N “’r $ o &
1A | L 1= T— —t
ol
Outlet hd ©
PT1/2"-14 S
v Outlet
4-M8x16 deep 175 ‘L 10 PT1/2"-14 =T \ IS-IF?E/ »
147 LalBxe1e) 18 & {4-M10x20 )
185 130
AR16 /22 CR
Solenoid control valves
OFF:Low tension unloading Filli rt R 16"-1 NF Low pressures
ON:2-stage pressure o 0. Rl MAX.154,9 adjustment
T o] Drain port RC3/8" (PT3/8") MAX.89.9 High pressure
267.8 f 44.5 /  adjustment
DEC. o 4
Low Flow adjustment @
High flow o /68 5 TIE— INC.
adjustment 8 2 8
o0 pic I g g i
) = o W) —— 003
© © N 0 H 2 BN 760 g
o S = . s slels ~
Ohed© 8]_ =N rora il IE
= N 4
=] rd = +— —
Outlet 7 et | ©|
PT1/2"-14/ ;ﬁ = = =
T 4-M8x16 d Outlet
oxto deep 17,5 _L 10 PT1/2"-14 ! \ IFr’]":'eStM" M
124 147 (4-M8x16) 106 & (4_M10X'20 )
185 130

o HFBRIECL - AR A ST Tl Al

e Specification is subjected to change without notice.



Dimension

AR16 /22D

i . - 2765 44 .5 MAX154.9 Low pressures
olenoid control valves| : . i ey djustment
—_— Drain port RC3/8" (PT3/8") MAX 89,9 ady
Filling port RC9/16"-18UNF — High pressure
O / adjustment
.. 68 6 /
DEC. O @ g e 8 2 O
Flow adjustment o 25 oglos|od)
P w| | W INC.
<= +0.03
- o g o 4,760
ol T ! Bl 8] S N~ e
N O] ~ (9]
N 3] ‘—"I_ o il
£ F an
ST T = \
ALLE
Outlet ‘ 1 2
PT1/214/ AR o
& Outlet
+HBxio ey, 17,5 _L_w PT1/2"-14 \< L.
! N 106 =
147 (#-Mexi8) & (4-M10x20 )
185 130
AR16 /22 DG
Low pressures
Solenoid control valves 276.5 445 MAX15.0 adjustment
Filing port ~ — Drain port RC3/8" (PT3/8") MAX.89,9 High pressure
RC9/16"-18UNF Romote pressure port : adjustment
O PT1/4" / Warning:
D: O o 7T Don't adjust
DEC. ™
Flow adjustment ) —o8 5 ) - O
- | Y
[=]=] (a]le] [ole]
A - q‘- & 003 INC.
o o o e 47609
& = | NEE N
3 el N
‘—j’— 1
Outlet B | 1 L 2
PT1/2"-14 #
3 Outlet
4-M8x16 deep, 175 ‘L_") PT1/2"-14 ' \< L
' 4-M8x16 106 -
147 (4-M8x16 ) & (aM10x20)
185 130
AR16 /22 E
Low pressures
Solenoid control valves 2765 445 MAX154.9 ad'uZtment
. . . MAX89.9 !
. Drain port RC3/8" (PT3/8") -
Filling port RC9/16"-18UNF B High pressure
O /_ adjustment
68 6
DEC. O e (3]
. g 9 g ™
Flow adjustment =3 | 25 oclos|os
b vl < ¥ INC.
ol &l g 4760
o o i 1 slelsl ~ 8
AN (=] onl N
b = ‘—"— © 3
& = A S
) Outlet VS | | L § ol
pT1/2"14 /AR =
y - Outlet
“MomGdeen 17,5 ,LJO PT1/2"14 ' \< % Jplet g
) - 106 -
124 147 (4-M8x16) & (4-M10x20 )
185 130

o MIFHELR » AR STl A

e Specification is subjected to change without notice.



Dimension

AR16 /22 EG

@,

i 276,5 44,5 INC.
Solenoid control valves MAX154.,9 Low pressures
Filling port RC9/16"-18UNF i C3/8" (PT3/8" MAX89.9 adjustment
g p Drain port RC3/8" (PT3/8") High pressure
Romote pressure port * adjustment
O Q: O ||I i Warning:
DEC. Don't adjust
Flow adjustment . 68 6 = :
: VA R
feen] w| x| v +0.03
9 o) = 476709
Q| [=] —| | ©
N - i 1 olels] ~
8 . ik
é‘-‘[_ 12. I -+ T— — S
Outlet L | ©
PT1/2"14 /b= ¥ - ™
Outlet
FMxiedaep, 17,5 J, 10 PT1/2"-14 o \< LY .
' . 106
147 (4-M8x16) & (4-M10x20 )
185 130
AR16 /22 F
267.8 44,5 Low pressures
MAX154,9 adjustment
Solenoid control valves Drain port RC3/8" (PT3/8") MAX89.9 ————
E— Filling port RC9/16"-18UNF /__ ngh pressure
Low flow adjustment adjusmant
. ' \ .68 6
High flow adjustment S O 2] 5 B B ()
° | o8 &332 ®
P . | | v INC.
O = =P +0.03
< beC = | NE N g
N o | N~y
S T o
A1 = - —
A
Outlet | ©
PT1/2"-14 74: = S ™~
% Outlet
4-M8x16 deep 7.5 _L 10 BT 14 \ L
' 4-M8x16 &
147 ( ) & T (4-M10x20 )
185 130
AR16/22 FG
267.8 44,5 MAX154.9 Low pressures
Filling port RC9/16"-18UNF Drain port RC3/8" (PT3/8") MAX89.9 anUStment
Solenoid control valves = High pressure
Romote pressure port : adjustment
Low flow adjustment [l ) PT1/4" Warning:
) ’ O Don't adjust
High flow adjustment o . 68 6 _
m ©, W
© | 28 ooc|od (.N?
) DEC. 10 oo S S8 0.03 (g )
o N~ ] o —| o o)
9 S P I PR E N
o | N
“’ e .
8] O 1= ] 3
Outlet 7 St | ©|
PT1/2"14/ [l - - .
4-MBx16 deep | 175 _L_m BB 14 \g L -~
147 [ #exlsy & T(2-M10x20)
185

IR » AT 3T

eSpecification is subjected to change without notice.



Dimension

AR16 /22 GM

MAX195 44.5 . NG6
Filling port 00 ¢ +
RC9/16"-18UNF 2
Drain port 00+ ¢ Diff pressure
) ik it G3/8"(RC) adjustment
O 68 6 (@Warning:
i DEC. Flow adj.Screw o) of S £ Don't adjust )
i—i Discharge port o 25, oofes| oo [ R /
| RC3/4"(PT3/4") : 3l & 8 == ~
2-M10x17 deep, o £ « | 4.76¢ % | &
0 ﬁl Q OE By , 8
0 = I
o A /D L C N HI= (X \ap- 1
<, N Q
Suction port oL J !
® ! Pressure gauge JE———— o
?19 N I commection P |
= N——"1 RC1/2"(PT1/2") i ——
- . 10  Outlet RC1/2 . \ Inlet RC3/4"
32,532 5 T s o,
120 } 172
AR16 /22 GJ
MAX195
i Filling port 210
RC9/16"-18UNF
Drain port Gife
G3/8"(RC) ITT pressure
Luck nut O adjustment
D i 68 6
pec. Flow adj.Screw o) . (@Warning:
—h Discharge port 10 28, 5| oo| oo A § Don't adjust )
2-M10x17 deep MR et 8§ @ g0
= o| | o 4.76*
C _ﬂm ® = s M 3
: % A
& A
I ) —
2‘1’(3'0” port @ ® Pressure gauge —_—1 S
N P commection [
22.2 RCIZ/PTI/Z) 10  Outlet RC1/2"
: utle! \
147 106 > Inlet RC3/4"
32.532.5 130 N
120 ! 172
AR16 /22 GR
Drain port
G3/8"(RC)
MAX195 [ 44.5
Filling port
RC9/16"-18UNF
O Diff pressure
H Luck “”f H adjustment
Flow adj. o | 68 6 ol
DEC. Screw @ ing:
h 2 b\ e f ( War'nmg:
I—j Discharge port 4 25, ool es| o9  — - o Don't adjust )
} RC3/4"(PT3/4") 2l 3| 9 == o 2
2-M10x17 deep o| = o I il
® j?\ © = R ; 47640
| B o
g 4@y N o= TGl % \ep-
< -
_ o\ T ) :
Suction port—18 T ® Pressure gauge H L ©
19 N ! commection [ T
22.2 ) ReNEITTRY Outlet RC1/2" l \
. 10 "
T . 106 o Inlet RC3/4
222 130 %
120 | 172

o HIFRAEUL » AR TSI AN

eSpecification is subjected to change without notice.



Dimension

AR16 /22 GB
Drain port

G3/8"(RC)
MAX195 | 44.5

Filling port
RC9/16"-18UNF

Luck nut
Flow adj.

DEC. _Screw

Diff pressure
adjustment

(@Warning:

68 6

|
les[0] 0

N
148.5

|1
o$ o5 ogl ;_: Don't adjust )
wn| I v ©
S| o W
2-M10x17 dee| =] s
p A _ﬂ% S or = =] al ool 4.76%303
5 -
ﬁ ) Vta — i
< n_(./} 1\/J
Suction port—I0 Pressure gauge { 1

©|
N
1 9 commection \
# ) /1 RC1/2"(PT1/2") E
229 Outlet RC1/2"
.10 _— Inlet RC3/4"
147 )

130 )

32.532.9
120 172

AR16 /22 GC

Drain port
G3/8"(RC)

MAX195 | 44.5

Filling port
RC9/16"-18UNF

H Luck nut
Ho <,> Flow adj’
i

Diff pressure

H H adjustment

| 68 6 (@Wamings
g Don't adjust )
25 | S 4 :
g

DEC, Screw

¢;VOO:

—3 Discharge port og og og >
RC3/4"(PT3/4") 8 | 8 o ®
2-M10x17 dee ] I )
@ _ﬂx © Sr = AL PL o 4.76"3°
N AN 7 | +—
< T s rl\JJ (—|
Suction port —g Pressure gauge —L S
®19 N y commection [ l
RC1/2"(PT1/2") Outlet RC1/2"
22.2 10 utle "
1, 4 .10 106 . \ Inlet RC3/
=< 130 %
120 172

AR16/22 LN

Filling port Drain Port
RC9/16"-18UNF RC3/8" (PT3/8")
Luck nut \ MAX195 / 445
: /68 6
pec. Flow Adj. Screw
g o 8
==y [ Discharge port 25 od|og| o5
! 1 T
I RC3/4"(PT3/4") § § ﬁ
2-M10x17deep ﬂ -D: 5 g %O A
N
3 o o
< D ) o
5 P 14— - — &
Yo\ T I
Suction port: o . { | "
| ressure Gauge
L N Commection F
RC1/2" (PT1/2"), )
S 10 Outlet RC1/2 \ et RG3/4"
147 g@
325325 o
120 | 172

IR » AR TIAN ST Al

e Specification is subjected to change without notice.



Dimension

AR16/22 LC
Fillin

port Drain port
RCONG"18UNF RC3/E (PT3/8") MAX1655 | Lucknut
O Luck nut MAX195.5 f 44 5 MAX100.5} Pressure adj. screw
Flow adj. Scr \ /68 6
DEC. 5} © 0
. 24 od|os| o3 s
Discharge port g 3 @
2-M10x17 deepg REIFI(PTaI) gl § §i[
T (=] ~
0|
©| E N
5 [i| P4 - '€ §
Suction port 1 L
®19 N 9
22,2 ‘ 10  Outlet RC 1/2} \
! —— Inlet RC 3/4"
L s [ 147 (4-M8x14 ) ‘ 2
120 172
Flangé side 1
P: PT1/2" 5O ‘
" 4-M8 x P1.25
- Theard x 14 Deep\ |
| 2
F504(Screw distance.Theanﬂ
AR Splined Shaft
Luck nut
Filling port Drain port e I
RC9/16"-18UNF RC3/8" (PT3/8")
pro—— / - G:16/32 DP-13T MAX165:5 Flow adj. Screw
\ y MAX100.5
TR . T:16/32DP-9T 0
DEC. Flow adj. Screw le /68 6
Discharge port /@ l c,ﬁ INC.
RC3/4"(PT3/4") | 0
g <
2-M10x17Deep, _ﬂm I d: z
e L©1 o ~ ol
© 1 \ © ‘_
© R | A 1 1
~ 7\/ W
I\/_ °
Suction port Pressure gauge i Ted N
®19 commection
RC1/2"(PT1/2") P 33
222 10 Outiet RC1/2 \| Inlet RC 3/4"
' 106
147 o
130 xS
172
AR Thru drive
- Drain port
Filling port
RCON6" 18UNF RC3/8" (PT3/8")
185,5 / 44,5 Flow adj. Screw
.. /68 6 O
- ) O, 0|
| 25 og o; og INC.
g J 9
9T DP 16/32 o ol & S
' 3 THiee
& 1 e 11 —|
@, -J‘{. .
wrdndll a
Outlet - —_— 1 ©
RC 1/2" /
4-M8x16 deep 175 10 (2””38'—"1(; ;/ E Inlet RC 3/4"
147 - Miox
2-M10xP1.5x16deep (4-M10x20)

o HIFRAEUL - AR TSI AN

e Specification is subjected to change without notice.



